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1. RBREBBEOL
(1) #BBINE 2,127, 849, 000 2,100, 236, 000 27,613, 000
REINEE 2,127,849, 000 2,100, 236, 000 27,613, 000
(2) ¥BEER
EXE 2,112, 248,000 2,083, 135, 000 29,113, 000
=gy 18, 821, 000 20,221, 000 -1, 400, 000
BREER 2,131,069, 000 2,103, 356, 000 27,713, 000
LHRRE RS -3, 220, 000 -3, 120, 000 -100, 000
2. RBENEBOE 0
(1) #BEHINE
RE SRR 1, 690, 000 0 1, 690, 000
(2 #BESNEHR
BENERE 0 0 0
LHRRRE S EIREE 1, 690, 000 0 1, 690, 000
L HA— AR IE BRBA EE 1B RIEE -1, 530, 000 -3, 120, 000 1, 590, 000
—REKMEHERS 9, 200, 000 9,579, 000 -379, 000
—RIERBIEHRES 7,670, 000 6, 459, 000 1,211, 000
I EFIEKRIEEBOE
L HAIE TE IE R BA EE 1EIREE 0 0 0
BEEGRMESRERS 6, 300, 000 6, 300, 000 0
BEEGRMERRES 6, 300, 000 6, 300, 000 0
I ERBAEERES 13, 970, 000 12,759, 000 1,211, 000
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1. BEEEOH
(1) #BEINE
BEIEEE 2,112, 248, 000 0 15, 601, 000 2,127, 849, 000
(2) BEER
ExE 2,112, 248, 000 0 0 2,112,248, 000
IR 0 0 18, 821, 000 18,821, 000
BEEAM 2,112,248, 000 0 18,821, 000 2,131,069, 000
LR EEEEE 0 0 -3, 220, 000 -3, 220, 000
2. BENMERDOER
(1) #BEHIRE
BESINEEET 0 0 1, 690, 000 1,690, 000
(2) #BENER
BENERE 0 0 0 0
LERRE ML REE 0 0 1, 690, 000 1,690, 000
L4 HA — A% I R EA EE 14 imEE 0 0 -1, 530, 000 -1, 530, 000
—RERE EHE RS 0 0 9, 200, 000 9, 200, 000
— R IEREFEHRES 0 0 7,670,000 7,670, 000
I IBFEIEKREEEBOI
L HA4E T I LR EA EE KA iR EE 0 0 0 0
BEEKREESHE RS 6, 300, 000 0 0 6, 300, 000
BEEKREEHRRES 6, 300, 000 0 0 6, 300, 000
I EREAEEARES 6, 300, 000 0 7,670, 000 13,970, 000




